TABLE 8. I REFRACTION TABLE 9. O CORIOLIS (2) CORRECTION

To be subtracted from sextant altitude

Height above sea level in thousands of feet R=Rgxf Ground Latitude Ground
speed speed
knots knots

Rg 0 5 10 15 20 25 30 35 40 45 50 55 Ro f 0° 10°| 20° 30°| 40° 50°| 60° 70°| 80° 90°
Sextant Altitude 09 10 11 12 S TS T I
R 50 0 0 0 1 1 1 1 1 1 1 50
' 00 | 0 o 1 1| 2 2| 2 2| 3 3| 100
90 90 90 90 90 90 90 90 90 90 90 90 150 0 1 1 2 3 3 3 4 4 4 150
0 63 59 55 51 46 41 36 31 26 20 17 13 0 0 0 0 0 200 0 1 2 3 3 4 5 5 5 5 200
1 33 29 26 22 19 16 14 11 9 7 6 4 1 1 1 1 1 250 0 1 2 3 4 5 6 6 6 7 250
2 21 19 16 14 12 10 8 7 5 4 240 140 2 2 2 2 2 300 0 1 3 4 5 6 7 7 8 8 300
3 16 14 12 10 8 7 6 5 310 220 130 040 3 3 3 3 4
4 12 11 9 8 7 5 400 310 210 130 039 +005 4 4 4 4 5 350 0 2 3 5 6 7 8 9 9 9 350
5 10 9 7 550 450 350, 310 220 130 049 +011 -019 5 5 5 5 6 400 0 2 4 5 7 8 9 10| 10 10 400
6 810 650 550 450 400 300f 220 150 110 024 -011 -038 6 5 6 7 7 450 0 2 4 6 8 910 11|12 12 450
7 650 550 500 400 310 230| 150 120 038/+004 —-028 -054 7 6 ’ 8 8 500 0 2 4 7 8 10|11 12| 13 13 500
8 600 510 410 320 240 200 130 100 019|-013 -042 -108 8 ’ 8 9 10 550 0 3 5 7 9 11 (12 14| 14 14 550
9 520 430 340| 250 210 140( 110 035 +003|{—-027 -053 —-118 9 8 9 10 11 600 0 3 5 8|10 12|14 15| 16 16 600
10 430 340 250 220 140 110f 037 +011 -016|-043 -108 -131 10 9 10 11 12
12 330 250 210 140 110 034|(+009 -014 -037|-100 —-123 -144 211 12 13 14 650 0 3 6 9|11 13|15 16| 17 17 650
14 250 210 140 110 037 +010|-013 -034 -053|-114 -135 -156 14113 14 15 17 700 0 3 6 9|12 14|16 17| 18 18 700
16 220 140 120| 043 +015 -008|-031 -052 -108|-127 —146 —-205 16 | 14 16 18 19 750 0 3 7 10|13 15|17 18| 19 20 750
18 150 120 049(+023 -002 -026|-046 —-106 —-122|-139 —-157 -214 18 116 18 20 22 800 0 4 7 10|13 16|18 20|21 21 800
20 112 044 +019|-006 -028 —-048|-109 —127 —-142|-158 -214 -230 20118 20 22 24 850 0 4 8 11|14 17|19 21|22 22 850
251 034 +010 ~013|-036 ~055 —114|-132 ~151 -206|-221 -234 —249| 2> | 22 25 28 30 90 | 0 4| 8 12|15 18|20 22|23 24| 900
30 1,006 -016 -037|-059 ~117 —-133|-151 -207 -223|-237 —251 —304| 30 | 27 30 33 36
35 35 |31 35 38 42
20 | 018 -037 -058/-116 -134 -149|-206 -222 -235|-249 -303 -316 20 | 36 40 a4 48 To be applied by moving the position line a distance Z to starboard (right)
-053 -114(-131 -147 -203|-218 —-233 -247|-259 -313 -325 of the track in northern latitudes and to port (left) in southern latitudes.
45 —-110 -128(-144 -159 -215|-228 -243 -256|-308 —-322 -333 45|40 45 50 54
50 ~140|-153 —209 —224(-238 —252 —304|-317 —329 —341| 0 | 45 S0 55 60 BUBBLE
55 _203 -218 —233|-246 —301 —312|-325 —337 —34g| > |49 55 60 66 STANDARD DOME SEXTANT
60 _253 -307 —319|-331 —342 —353| o0 | > 60 66 72 REFRACTION ERROR
Height above sea level in thousands of feet 09 10 11 1.2 To be subtracted from
observed altitude when Sextant No.
0 5 10 15 20 25 30 35 40 45 50 55 f using sextant suspension
in a perspex dome.
f Temperature in degrees Celsius (centigrade) f Alt. Corr.
Refraction Alt.  Refn. Alt. Refn. ° !
09| TAT o+ 36 +27| +18 +10 + 3| - 5 —13| Forthese heights no temperature 0.9 R=Rgxf ° ' ° '
1.0 +26 +16 + 6| - 4 -13 -22| -31 -40 correction is necessary: use 1.0 | WhenRyis less than 10 8 50 4
11| +5 -5 -15 -25 -36 -46| -57 -68| R=Rg 11 mlof:e(;[] ;:eaf;eiggg ift- 20 7 60 4
1.2 -16 -25 -36| —-46 -58 -—-71| -83 -95 1.2 use R :YRO " 30 6 70 3
-37 -45 -56| —-67 -81 -95 40 5 80 3
This table must not be
Choose the column appropriate to height, in units of 1,000 feet, and find the range of altitude in which the sextant altitude lies; thus used if a calibration table is
find Rq. This is the refraction corresponding to the sextant altitude unless conditions are extreme. In that case find f from the lower fitted to the dome, or if a
tab_le corresponding to the range of temperature for the alppropriatle height, and use the table on the right to finq R. Examplg: ata flat glass plate is provided,
height of 30,000 feet and temperature (-) 60° C, a celestial body is observed at altitude (=) 2° 36'. Rgis 50', fis 1.1 and R is 55'. for non-standard domes.
Subtracting this from the sextant altitude gives (=) 3° 31". or




